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BA3—2 BEMICERTIEEESNIERICETHEEA/1) REEE | 20231
[ EnONE | BmEs | I82BN5022 Bm% T ZHigoka] | e | [ BID L ] B R o ]
- SERMOTIRICHEET 514 SERMA
A TREOBHOEIEHDKRES TEREOHBEIENDKRES TREOBHOESEHDKRES TREFOHBEEIEADKRES
5 X 4 ‘e | MWD LOERE | ADKES X 4 TALOKF [ B | AOKES X 4 Be | LmhLOES | NOREE X 4 IRACOES [ & | hORES
(m) (m) (kN/m) EEHE(m) (m) (kN/m) (m) (m) (kN/m) (m) (m) (kN/m)
’ 100kN/m%#8%%5| 1.00| 000 ~ 243 138.08 |3mZi#EZ 5 -~ — - —| 100kN/m%#B2%| 1.00 [10.77 ~ 23.46 138.08 [3mZ#BZ5 -~ - - -
Zhllis 1.00| 243 ~ 10.22 100.00 | ZhList | 000 ~ 1022 | 2.58 13.05 zhlis 1.00 ] 500 ~ 10.77 100.00 | ##Lklst | 5.00 ~ 2346 | 2.58 13.05
) 100kN/ Mm% 2% 1.00 000 ~ 294 146.69 |3m%Ei#BZ % — ~ - - —| 100kN/m%#8%%| 1.00 |10.56 ~ 26.94 146.69 |3mE#BZ5 -~ - - -
Zh s 1.00| 294 ~ 10.73 100.00 | #hblst | 000 ~ 10.73 | 3.00 15.15 FhnLs 1.00 ] 500 ~ 10.56 100.00 | ZHhllst | 500 ~ 26.94 | 3.00 15.15
3 100kN/mM%E#BZ % 1.00| 000 ~ 3.02 148.09 [3mZ#Ex5| 000 ~ 0.18| 3.10 15.65 | 100kN/m%#E%%| 1.00 |[10.55 ~ 26.00 148.09 [3m%E#E%5(25.00 ~ 26.00 | 3.10 15.65
Zh s 1.00| 3.02 ~ 10.81 100.00 | Z#hblist | 018 ~ 1081 [ 3.00 15.16 ZhList 1.00 ] 500 ~ 10.55 100.00 | Zhlist | 500 ~ 25.00 | 3.00 15.16
4 100kN/m%#E2%5| 1.00| 000 ~ 194 129.95 |3m%i#EZ 5 -~ — — —| 100kN/m%i#82%| 1.00 {1055 ~ 18.00 129.95 [3mZEEZ5 -~ - — -
Zh s 100 194 ~ 973 100.00 | ZhList | 000 ~ 973 2.34 11.82 ZFhLis 1.00 | 5.00 ~ 10.55 100.00 | =hlist | 500 ~ 18.00 | 2.34 11.82
5 100kN/m#E#B 2% 1.00 ( 0.00 ~ 242 137.85 |3m%Ei#BZ % _~ . - —| 100kN/m%#8%%| 1.00 |10.53 ~ 20.65 137.85 |3mE#B %5 -~ - - -
Zhust 1.00| 242 ~ 10.21 100.00 | #hbList | 000 ~ 10.21 | 2.73 13.78 ZhLst 1.00 ] 500 ~ 10.53 100.00 | #hList | 500 ~ 2065 2.73 13.78
6 100kN/m%#8%%| 1.00| 000 ~ 219 133.99 |3mZE#B x5 - ~ - - — | 100kN/mi%#8%% | 1.00 |10.68 ~ 20.45 133.99 |3mZz#BZ5 -~ - - .
ZhLs 1.00| 219 ~ 997 100.00 | ZHhbtist | 000 ~ 997 [ 2.61 13.18 Zhlist 1.00 ] 500 ~ 10.68 100.00 | ZHhllst | 500 ~ 2045 | 2.61 13.18
. 100kN/mZ#x%| 100 000 ~ 232 136.21 |3mZEi#EZ 3 -~ - - — | 100kN/i%i#E%%| 1.00 |11.21 ~ 26.00 136.21 |3mZE#EZ % -~ - - .
Zhrisn 1.00| 232 ~ 10.11 100.00 | Z+kist | 000 ~ 1011 | 2.82 14.27 ZhLlist 1.00] 500 ~ 11.21 100.00 | =4 list | 500 ~ 26.00 | 2.82 14.27
100kN/mM%Z#B % % ~ 3ImEHEZD ~ 100kN/mM%Z#BZ % ~ 3mEHEZD ~
Zhilst ~ Zhiis ~ Zhrist ~ Fhilst ~
100kN/M%Z#E % % ~ 3ImEHZD ~ 100kN/mM%Z#EZ 5 ~ 3mEBAD ~
Zh st ~ Zhiis ~ Zhilst ~ Fhlist ~
100kN/mM%Z#E 2 % ~ ImEREZD ~ 100kN/mMi%ZH#8Z % ~ ImERZD ~
ZhiList ~ Zhilsn ~ Zhiist ~ Zh Lot ~
100kN/M%Z#B 2 % ~ 3ImEHZD ~ 100kN/mM%ZH#BZ % ~ 3mZHBAD ~
ZhList ~ Fhiis ~ ZhList ~ zThhist ~
100kN/mMZ#8Z % ~ ImEFHEZD ~ 100kN/mM%Z#8Z % ~ 3mEEZAD ~
ZhiList ~ Fhiisn ~ ZhLst ~ Fhlist ~
100kN/M%Z#E 2 % ~ 3mEHEZD ~ 100kN/mM%Z#BZ % ~ ImERZD ~
ZhLst ~ Fhilst ~ Zhiist ~ ZhList ~
100kN/mM%Z#B 2 % ~ 3mEHZD ~ 100kN/mM%Zi#BZ 5 ~ 3mZHBAb ~
ZhiLust ~ Fhiis ~ Zhrst ~ zhkist ~
100kN/ Mm% %% ~ ImEHEZD ~ 100kN/mMZ#2Z.% ~ 3ImEEZD ~
Zh st ~ Zhiisn ~ Zhiist ~ zhList ~




